Korrekt: Punkt vor Strich!

In einer Kettenrechnung gilt: Punktrechnungen haben Vorrang vor Strichrechnungen!

1 305+ 55- 51+ 546= 2 920+ 29 88+ 111=
344+ 89. 58+ 213= 390+ 42 53+ 854=
235+ 67- 11+ 815= 709+ 52 59+ 507=
427+ 87 77+ T717= 898+ 79 59+ 101=
3 482+ 49. 92—  358= 4 955+ 21. 53— 976=
370+ 95- 75— 218= 314+ 19. 55—  450=
977+ 51- 18—  779= 174+ 91- 11—  480=
620+ 18- 90— 541= 871+ 29. 32— 297=
5  + 58. 50+ 695= 40316 144+ 32. 65+ = 2781
4+ 18- 21+ 577= 1822 221+ 92- 81+ = 8406
4+ 34. 57+ 265= 2493 424+ 89 52+ = 5406
4+ 77 59+ 296= 5679 761+ 29. 53+ = 3104
7 666+ 74- 90— = 71138 4+ 17- 21— 590= 381
109+ 98- 87-_ = 7985 4+ 36- 68— 378= 2329
230+ 71- 26— = 1656  + 47. 13— 245= 1206
803+ 26- 14— = 908 + 92. 52— 557= 5056
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Korrekt: Punkt vor Strich!

In einer Kettenrechnung gilt: Punktrechnungen haben Vorrang vor Strichrechnungen!

1 305+ 55- 51+  546= 36562 920+ 29- 88 + 111= 3583
344+ 89- 58 + 213= 5719 390+ 42- 53 + 854= 3470
235+ 67- 11+ 815= 1787 709+ 52- 59+ 507= 4284
427+ 87 77+ 717= 7843 898+ 79- 59 + 101= 5660

3 482+ 49.- 92 -  358= 46324 955+ 21- B3 - 976= 1092
370+ 95- 75— 218= 7277 314+ 19- 55 - 450= 909
977+ 51- 18-  779= 1116 174+ 91- 11 -  480= 695
620+ 18- 90 -  541= 1699 871+ 29- 32- 297= 1502

5 436+ 58- 50+ 695= 40316 144+ 32- 65+ 557= 2781

867+ 18- 21 + 577= 1822 221+ 92- 81+ 733= 8406
290+ 34- 57+  265= 2493 424+ 89- 52 + 354= 5406
840+ 77- 59+ 296= 5679 761+ 29- 53+ 806= 3104

7 666+ 74- 90-  213= 71138 614+ 17- 21 - 590= 381
109+ 98- 87— 650= 7985 259+ 36- 68 -  378= 2329
230+ 71- 26— 420= 1656 ~ 840+ 47- 13 -  245= 1206
803+ 26- 14 -  259= 908 829+ 92.- 52 -  5b7= 5056




Korrekt: Punkt vor Strich!

In einer Kettenrechnung gilt: Punktrechnungen haben Vorrang vor Strichrechnungen!

1 933+ 98- 34+ 717= 2 955+ 28- 47+ 861=
738+ 50- 26+ 243= 558+ 80- 31+ 694=
133+ 43. 97+ 991= 438+ 87 17+ 449=
420+ 30- 73+ 146= 447+ 84 62+ 970=
3 861+ 51. 35- 511= 4 882+ 70- 95— 174=
218+ 69 24—  530= 140+ 50- 72— 848=
624+ 32- 14— 610= 986+ 55- 54—  455=
106+ 44- 44—  344= 856+ 70- 79—  883=
5  + 91- 70+ 798= 75836 457+ 64- 83+ = 6423
4+ 80 12+ 773= 2336 197+ 45. 59+ = 3030
4+ 82 71+ 228= 6518 883+ 12- 12+ = 1789
4+ 74 80+ 666= 7216 372+ 19- 94+ = 3092
7 160+ 53- 76— = 35488  + 94. 34— 631= 2815
202+ 22- 94— = 1813 4+ 46- 46— 326= 2210
727+ 74. 55— = 4294 4+ 28. 74— 749= 1746
754+ 48 17 - = 703 + 66- 38— 960= 2537
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Korrekt: Punkt vor Strich!

In einer Kettenrechnung gilt: Punktrechnungen haben Vorrang vor Strichrechnungen!
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Korrekt: Punkt vor Strich!

In einer Kettenrechnung gilt: Punktrechnungen haben Vorrang vor Strichrechnungen!
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Korrekt: Punkt vor Strich!

In einer Kettenrechnung gilt: Punktrechnungen haben Vorrang vor Strichrechnungen!

1 637+ 49- 30 + 103= 22102 229+ 33- 42+ 293= 1908
901+ 14- 17+ 504= 1643 193+ 66- 61+ 932= 5151
534+ 50- 79+ 982= 5466 319+ 63- 83 + 161 = 5709
622+ 27- 65+  549= 2926 183+ 45- 050 + 164 = 2597

3 235+ 50- 99- 330= 48554 689+ 85- 58 - 960= 4659
633+ 583 70- 222= 4121 525+ 70- 88 - 194= 6491
742+ 49- 82 -  140= 4620 614+ 61- 81— 418= 5137
372+ 24- 56 - 210= 1506 142+ 58- 84 - 778= 4236

5 378+ 70- 49+ 802= 46106 748+ 33- 57 + 666= 3295

840+ 31- 58+ 897= 3535 656+ 79- 54 + 547= 5469
561+ 91- 63+ 839= 7133 865+ 13- 12+ 269= 1290
248+ 98- 77+  359= 8153 656+ 71- 49+ 903= 5038

7 997+ 89- 48 - 910= 43598 917+ 19- 14 - 441= 742
755+ 89- 69—  405= 4421 699+ 48- 65— 961= 2858
583+ 51- 44 -  886= 1941 395+ 11- 46 -  648= 253
787+ 84- 59- 181= 5562 815+ 49. 28 -  344= 1843







